Questions from Chapter 6: Behavior and Social Learning Psychology

1.  Select the false statement regarding Pavlov’s theory of classical conditioning:

A. Spontaneous recovery of an extinct conditioned response is possible after a certain elapsed time 

B. Generalization occurs when several similar stimuli elicit the same conditioned response

C. Anticipatory nausea in a chemotherapy patient is an example of respondent conditioning

D. Avoidance behaviors are an effective method used to discontinue the occurrence of a conditioned emotional response 

E. An unconditioned response does not involve learning by the subject

2.  Select the statement that represents a true theory regarding punishment:

A. Positive punishment involves removing a positive reinforcer upon occurrence of a certain behavior

B. A problem with punishment is that it often conditions negative emotional responses

C. Aggressive punishment is rarely associated with modeling by children

D. Delayed punishment can be very effective in controlling certain behaviors

E. Deprivation with respect to the punisher is not an effective form of punishment

3.  Which of the following is not one of the processes of self-regulation?

A. Self-reaction

B. Self-criticism

C. Self-observation

D. Self-evaluation

4.  Which of the following is not a component or process of classical or respondent conditioning?

A. Unconditioned stimulus

B. Extinction

C. Conditioned stimulus

D. Conditioned response

E. Reinforcement

5.  A patient comes in and has not been taking his medication as prescribed.  The nurse tells him it is worthless for him to see the doctor if he is not going to follow out the doctor’s course for medication.  The patient begins to take his medications as instructed.  The following is an example of:

A. Extinction

B. Negative punishment

C. Positive punishment

D. Positive reinforcement

E. Negative reinforcement

6.  Susie has a problem with wetting the bed.  When Susie doesn’t wet the bed she is rewarded.  This is an example of:

A. Intermittent reinforcement

B. Negative reinforcement

C. She is not reinforced by this

D. Continuous reinforcement

E. Extinction

7.  A four year old child has a tantrum every time he sees a needle.  In this example, the child’s crying represents:

A. Conditioned stimulus

B. Unconditioned response

C. Response to positive punishment

D. Conditioned response

E. Discriminated behavior

8.  All of the following are component processes that mediate modeling except:

A. Motivation

B. Retention

C. Motor reproduction

D. Monitoring

E. Attention

9.  All of the following are true except:

A. Determinism is a characteristic of only the behavioral model

B. Problem behavior is the focus of study and treatment under the behavioral model

C. The psychoanalytical theory is based on case histories.

D. Under the psychoanalytical model, treatment involves bringing the unconscious conflicts into consciousness

E. The focus of the analysis under the behavioral model is contemporary variables

10. The principle(s) behind classical or respondent conditioning is (are):

A.   Repeatedly pairing an UCS with a CS elicits an UCR

B.   A CS increases in its ability to elicit a CR if it is no longer paired with the UCS

C. A previously neutral stimulus may be paired with an UCS, eliciting a CR after several

      presentations

D. Spontaneous recovery maintains that presentation of a CS following extinction never elicits the CR

E.  All of the above

 

11.  All the following referring to operant conditioning are false except:

A. Positive punishment increases the probability of a behavior by presenting a punisher

following behavior

B. Negative reinforcement increases the probability of a behavior by removal of an aversive event following the occurrence of the behavior

C. Negative punishment decreases the probability of a behavior by presenting a positive

reinforcer following behavior

D. Positive punishment decreases the probability of behavior by removal of a punisher following behavior

E.  None of the above

 

12. A father spanks his child when he behaves poorly towards his younger sister, yet the

child continues in this behavior. The boy's behavior towards his younger sister is an example or product of:

A.
Negative reinforcement

B.
Classical conditioning

C.
Modeling of behavior

D.
Positive reinforcement

E.
Shaping

13. In the experiments conducted by Skinner on a food deprived rat (i.e., the "Skinner

Box" whereby the rat could receive food by depressing a lever), which of the following statements is TRUE?

A. The consequence (appearance of a food pellet) for depressing the lever increased that

behavior, and therefore can be said to be reinforcing.

B.
The consequence (appearance of a food pellet) for depressing the lever increased that behavior, and therefore can be said to be punishing.

C.
The "Skinner Box" experiment listed above provides an illustration of negative reinforcement.

D.
The food pellet, in this case, can be thought of as a generalized reinforcer.

E.
None of the above are true.

14. A small child is presented with a piece of his/her favorite candy after successfully

completing clean-up after a play session.  The candy is given every time the child cleans up his/her toys along with praise by the mother.  The praise presented along with the candy is called a:

A. Punisher

B. Positive reinforcer

C. Negative reinforcer

D. Conditioned reinforcer

E. Primary reinforcer

15.  A principle of the Psychoanalytic Theory of behavior is:

A. Behavior is determined by reinforcement history, current contingencies and genetic endowment

B. Behaviors can be treated by using operant or classic conditioning models

C. Neurotic behavior is symbolic of underlying conflict based on historical variables, such as childhood events/experiences

D. A focus on observable behavior and environmental events (antecedents and consequences)

15. Answers:

1. D

2. E

3. B

4. E

5. D

6. D

7. D

8. D

9. A

10. C

11. B

12. D

13. A

14. D

15. C

